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QID : 601 - In the following question, select the related word pair from the given
alternatives.

Car:Tyre::?:?

Options:

1) House : Room

2) Labour : Salary

3) Camera : Photo

4) House : People

Correct Answer: House : Room

QID : 602 - In the following question, select the related word from the given alternatives.

Triangle : Figure : : Car : ?

Options:

1) Vehicle

2) Seat

3) Road

4) White

Correct Answer: Vehicle

QID : 603 - In the following question, select the related word from the given alternatives.

Hour : Minute : : Kilometer : ?
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Options:

1) Meter

2) Gram

3) Litre

4) Weight

Correct Answer: Meter

QID : 604 - In the following question, select the related letters from the given
alternatives.

FRIL : OLUI : : TRAM : ?

Options:
1) PKUW

2) BDFW
3) DPFV

4) PDUW
Correct Answer: PDUW

QID : 605 - In the following question, select the related letters from the given
alternatives.

ROCK :VSGO : :BELT : ?

Options:
1) AKLM

2) FIPX
3) FCXT

4) ERPX
Correct Answer: FIPX

QID : 606 - In the following question, select the related letters from the given
alternatives.

LS:HO::TQ:?

Options:
1) FM

2) JG
3) CL
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4) TF
Correct Answer: JG

QID : 607 - In the following question, select the related number from the given
alternatives.

12:50::18:7?

Options:
1) 40

2) 70
3) 80

4) 60
Correct Answer: 80

QID : 608 - In the following question, select the related number from the given
alternatives.

11:121::15: 7

Options:
1) 289

2) 343
3) 225

4) 217
Correct Answer: 225

QID : 609 - In the following question, select the related number from the given
alternatives.

49:56::81:7

Options:
1) 92

2) 88
3) 76

4) 84
Correct Answer: 88
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QID : 610 - In the following question, select the odd word from the given alternatives.
Options:

1) Hand

2) Legs

3) Lungs

4) Ear

Correct Answer: Lungs

QID : 611 - In the following question, select the odd word from the given alternatives.
Options:

1) Lizard

2) Rabbit

3) Snake

4) Crocodile

Correct Answer: Rabbit

QID : 612 - In the following question, select the odd word from the given alternatives.
Options:

1) Car

2) Bus

3) Truck

4) Transport

Correct Answer: Transport

QID : 613 - In the following question, select the odd letters from the given alternatives.
Options:

1) IFC

2) LIF

3) SPM

4) GDZ

Correct Answer: GDZ

QID : 614 - In the following question, select the odd letters from the given alternatives.
Options:

1) LO

2) HS

3)IR
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4) CY

Correct Answer: CY

QID : 615 - In the following question, select the odd letters from the given alternatives.
Options:

1) XSNI

2) OJEY

3) UPKF

4) EZUP

Correct Answer: OJEY

QID : 616 - In the following question, select the odd number from the given alternatives.
Options:

1) 10 — 101

2) 12 — 145

3) 24 - 577

4) 26 — 675

Correct Answer: 26 — 675

QID : 617 - In the following question, select the odd number from the given alternatives.
Options:

1) 23

2) 37

3)41

4) 51

Correct Answer: 51

QID : 618 - In the following question, select the odd number pair from the given
alternatives.

Options:

1)11-26

2) 16 — 33

3)13-28

4) 18 — 33

Correct Answer: 16 — 33

QID : 619 - According to dictionary, which of the following word will come at second
position?
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1. Easily
2. Earmark
3. Ear

4. Ease

5. Earthy
Options:
1) Earmark

2) Earthy
3) Ease

4) Easily
Correct Answer: Earmark

QID : 620 - From the given alternatives, according to dictionary, which word will come at
LAST position?

Options:

1) Opaque

2) Ointment
3) Orderly

4) Ordinary
Correct Answer: Ordinary

QID : 621 - Arrange the given words in the sequence in which they occur in the
dictionary.

1. Outlook

2. Outlet

3. Outburst

4. Ornament

5. Outrageous

Options:

1) 43215

2) 34215
3) 25341

4) 52341
Correct Answer: 43215
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QID : 622 - A series is given with one term missing. Select the correct alternative from
the given ones that will complete the series.

LMK, FGE, ZAY, TUS, ?

Options:
1) BMQ

2) SRB
3) LZD

4) NOM
Correct Answer: NOM

QID : 623 - A series is given with one term missing. Select the correct alternative from
the given ones that will complete the series.

RSK, TVM, VYO, XBQ, ?

Options:
1) RGT

2) YFA
3) LQT

4) ZES
Correct Answer: ZES

QID : 624 - A series is given with one term missing. Select the correct alternative from
the given ones that will complete the series.

KPM, PVR, UBW, ZHB, ?

Options:
1) LQV

2) NGT
3) ENG

4) HIR
Correct Answer: ENG
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QID : 625 - In the following question, select the missing number from the given
alternatives.

35, 39, 48, 64, 89, ?

Options:

1) 169

2) 120

3) 125

4) 134

Correct Answer: 125

QID : 626 - In the following question, select the missing number from the given
alternatives.

41, 13, 54, 67,121, ?

Options:

1) 143

2) 188

3) 194

4) 168

Correct Answer: 188

QID : 627 - In the following question, select the missing number from the given
alternatives.

9, 23, 50, 103, 208, ?

Options:

1) 323

2) 411

3) 417

4) 431

Correct Answer: 417

QID : 628 - Five people are standing in a ticket booking line. A,C and D are standing
together, D is between A and C. A is immediately behind B and E is immediately behind
C. Who is standing second last in the line?

Options:

1)C

2) E
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3)D
4) A
Correct Answer: C

QID : 629 - At a family gathering C explained her relation with D by saying that D is the
grand daughter of C's mother's mother. If C's mother has no siblings, then how is D
related to C?

Options:

1) Daughter

2) Wife

3) Sister

4) Mother

Correct Answer: Sister

QID : 630 - From the given alternative words select the word which cannot be formed
using the letters of the given word.

CHAUVINIST

Options:
1) chain

2) acute
3) stain

4) china
Correct Answer: acute

QID : 631 - If CHATEAU is coded as DIBUFBV, then how will FOX be coded as?
Options:

1) ULC

2) ENW

3) GPY

4) GPzZ

Correct Answer: GPY

QID : 632 - In a certain code language, 2579 means 'nice bow and arrow', 3457 means
'healthy and nice fruit' and '8721 means 'bow to nice king'. Find the code for 'bow'.
Options:

1)5
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2) 2
3) 7

4)9

Correct Answer: 2

QID : 633 - In a certain code language, '+' represents '-', '-' represents 'X', 'X' represents
'+" and '+ represents '+'. Find out the answer to the following question.

100x5+15-12+6="7

Options:

1) 513

2) 71

3)-31

4) -154

Correct Answer: -154

QID:634-1f74% 36 =2,29 % 61 =4 and 19 % 26 = 2 then find the value of 48 % 25
=?

Options:

1) 23

2) 73

3)5

4) 2

Correct Answer: 5

QID : 635 - If A$ B means A is daughter of B, A # B means A is brother of B and If A *
B means A is father of B, then what does P $ Q *R # S mean?

Options:

1) P is mother of S

2) P is daughter of S

3) Pis sister of S

4) P is mother's mother of S

Correct Answer: P is sister of S
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